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Figure S1. Flow diagram of the present study.
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Specific o o o o o o o
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Protein o} o o o o} 0 o}
Glucose
Urobilino o} o o o o} o o}
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Occult o} 0 0 0 o} o o}
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Bilirubin o} o) 0 0 o) o o}
Ketone o) o) o) e) o) ) o)
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WBC o} o o o o} 0 o}
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Hb o} o o o o} 0 o}
Ht
Hematology MCV o o o o o o o
MCH o} 0 o) o) o) o) o)
MCHC o} 0 0 e} o} o o}
Plt ¢} 0 0 o o} 0 o}




Measur

SCR During intervention
ement
(Visit 1) | (Visit 2) (Visit 3) (Visit 4) (Visit 5) (Visit 6) (Visit 7)
Ist ond Before start 4 weeks & weeks 12 weeks 16 weeks
s n
of intake after intake | after intake | after intake | after intake
TG 0 O 0 o} o) 0 O
T-Cho o) 0 o) o) 0 o 0
BUN 0 0 0 o) o) O 0
T-Bil o) o o) o) o) o o
TP 0 0 0 o) o) 0 0
ALB o) 0 o) o) o) o o
ALP 0 0 0 o) o) 0 0
LDH 0 0 0 o) o) 0 0
Blood GTP o) o) o) o) o) o) o)
biochemistry | '~

test AST 0 0 0 o) o) 0 0
ALT o) 0 o) o) o) o o
Cr o) 0 o) o) 0 o 0
UA 0 O 0 o) o) 0 0
LDL- o) o) o) o) ) e) e)

Cho
HDL- o) o) o) o) ) e) e)

Cho
HbAlc o) 0 o) o) o) o o
BS o) 0 o) o) 0 o 0

Table S1. Schedule of the visit



Table S2. Baseline (0 week) characteristics of study participants.

Values are mean + SE. None of the characteristics was significantly different

Active(n = 50)

Placebo(n = 50)

Mean + SE Mean + SE
Gender

1.28 + 0.06 1.24 + 0.06

M=1F=2)
Age 51.02 + 1.22 50.30 + 1.18
v-GTP(U/L) 36.74 + 2.75 36.10 + 1.99
AST(U/L) 24.90 + 0.76 25.00 + 0.66
ALT(U/L) 30.80 + 0.99 30.80 + 0.99




Table S3. Physical measurement (Active n = 48 Placebo n = 50)

*P<0.05 vs Placebo #P<0.05 vs Ow

Grou 0w 4w Sw 12w l6w

P Mean + SE Mean + SE Mean + SE Mean + SE Mean + SE
Height  Active 167.67 % 1.17
(cm)  Placebo 168.01 + 1.18
Weight Active 6993 + 123 7007 + 128 6993 + 125 698 * 192 6964 t+ 125
(kg) Placebo 70.59 + 142 7051 + 138 7041 + 141 7020 0+ 142 7003+ 146
BMI  Active 2480 * 034 248 * 035 2481 035 M77 £ 036 471+ 035
(keg/m?) Placebo 24.89 = 034 248 + 033 248 + 034 MU+ 034 2468 + 035
Systolic
blood  Active 12185 + 188 12167 + 210 11938 + 177 12150 + 190 11821 + 194
@HommﬂHo
(mmHg) Placebo 11998 * 165 12026 + 178 11956 + 129 11916 + 139 11762 + 131
owwwwo Active 8060 * 125 7881 + 132 7850 +  1.06 7879+ 1.09 7794 + 117
(mmHg) Placebo 8174 + 129 7958 + 126 8018 + 106 914 121 7888 + 110
Heart rate Active 7423 + 177 7300 * 160 7494  * 167 7329 138 7333 + 134
(bpm) Placebo 7630  + 120 712+ 140 7684 + 120 7584 110 7408 + 110




Table S4. Urinalysis  (Active n = 48 Placebo n = 50) *P<0.05 vs Placebo. #P<0.05 vs Ow

Group ow W Sw 12w 16w
Mean * SD Mean * SD Mean £ SD Mean * SD Mean £ SD
oH Active 61 £ 07 6.1 07 6.1 08 62 £ 07 60 £ 06
Placebo 61 £ 08 62 £ 07 62 £ 07 63 £ 07 62 £ 07
Specific gravity Active 1.017 £ 0.007 1.015 £ 0.007 1.017 £ 0.007 1.017 £ 0.008 1.017 £ 0.007
Placebo 1.015 £ 0.008 1.016 £  0.008 1.016 £  0.008 1.017 £ 0.007 1.018 £ 0.009
Ow 4w 8w 12w 16w
Group (=) (£)(IH)HEHE) () (H)AHRHEHE) () (H)(AHEHEHED)  (5) (F)(IH2HEHED)  (5) (F)(14) 2+) (31) (4+)
Brotein Active 43 5 0 0 0 0 45 2 1 0 0 0 47 1 0 0 0 0 43 4 1 0 0 0 45 3 0 0 0 0
Placebo 43 6 1 0 0 0 4 5 1 0 0 0 46 4 1 0 0 0 47 2 1 0 0 0 42 8 0 0 0 0
Glcose Active 48 0 0 0 0 0 48 0 0 0 0 0 48 0 0 0 0 0 48 0 0 0 0 0 47 1 0 0 0 0
Placebo 50 0 0 0 0 0 500 0 0 0 0 500 0 0 0 0 50 0 0 0 0 0 50 0 0 0 0 0
Urobilinogen Active - 48 0 0 0 0 - 48 0 0 0 0 - 48 0 0 0 0 - 48 0 0 0 0 - 48 0 0 0 0
Placebo - 50 0 0 0 0 -5 0 0 0 0 -5 0 0 0 0 -5 0 0 0 0 -5 0 0 0 0
Active 45 2 1 0 0 0 46 1 0 0 1 0 48 0 0 0 0 0* 4 1 0 I 0 0 46 0 1 1 0 0
Occult blood
reaction  Placebo 43 4 2 1 0 0 42 5 2 1 0 0 45 3 0 1 1 0 47 2 1 0 0 0 43 6 0 0 1 0
Bilirubin Active 48 0 0 0 0 0 48 0 0 0 0 0 48 0 0 0 0 0 48 0 0 0 0 0 48 0 0 0 0 0
Placebo 50 0 0 0 0 0 500 0 0 0 0 500 0 0 0 0 50 0 0 0 0 0 50 0 0 0 0 0
~ Active 48 0 0 0 0 0 48 0 0 0 0 0 48 0 0 0 0 0 48 0 0 0 0 0 48 0 0 0 0 0
Ketone bodies
Placebo 49 0 0 1 0 0 49 0 0 1 0 0 500 0 0 0 0 50 0 0 0 0 0 49 0 1 0 0 0




Group ow 4w 8w 12w 16w
Mean + SD Mean + SD Mean + SD Mean + SD Mean + SD
WBC  Active 540833 £ 164.70 5404.17 *  170.37 54953'7 £ 18041 541042 = 185.57 5341.67 + 161.66
(/uL) Plaoceb 5568.00 * 217.81 5592.00 * 216.27 54704'0 £ 160.00 5400.00 * 153.38 5378.00 * 199.82
RBC Active 477.90 *  6.56 47267 £ 693 47133 = 663 47256 = 6.64 46650 = 6.04
(X 104/uL) Plao“’b 48300 * 622 48126 *  6.52 47552 = 587 47502 * 587 47542 £ 546
Hb  Active 1448 =  0.18 1435 = 0.19 1417 = 017 1426  + 018 1412+ 018
(¢/dL) Plao“’b 1478 £ 017 1477 £ 017 1452 * 015 1450 * 015 1454 + 014
Ht  Active 4423  + 054 4381 = 051 4409 = 051 4373 = 050 4346 = 0.50
Placeb
(%) o 44.82 + 0.50 44.77 + 0.51 44.62 + 0.44 44.42 + 0.44 44.68 + 0.42
MCV  Active 9274 =  0.68 93.00 = 075 9380 = 074 9278 071 9335 = 0.70
Placeb
(f) o929+ 053 9322 = 0.6 9405 =  0.60 9372 = 056 9415 = 049
MCH Active 3035 = 024 3044 £ 025 3015 = 026 3025 026 3031 £ 025
Placeb
(vg) <3066+ 020 3078 £ 021 3061 = 020 3059+ 0.20 3064 £ 020
MCHC Active 3273  * 0.3 3274 £ 0.14 3215 £ 013 %% 3259 = 0.12 3248 + 0.3
Placeb
%) o397+ 02 3301+ 0.10 3256 012 # 3264 = 0.10 3254  + 010 #
Pt Active 2585 £  0.70 2578 = 0.70 2539 = 070 2598 072 2506 = 071
Placeb
(X10%0) S 2587 £ 0.68 2614 = 070 2592 = 080 2572 % 069 2491 = 061
Table S5. Blood biochemistry test (Active n = 48 Placebo n = 50)

*P<0.05 vs Placebo #P<0.05 vs Ow



Ow 4w 8w 12w low

Group Mean * SE Mean *  SE Mean * SE Mean *  SE Mean *  SE

TG Active 10858 +  7.00 12371 £ 1120 1815 £ 8.60 12746 = 10.10 12188 £ 1040

(mg/dL)Placebo 102.20 +  6.80 142 £ 910 11322 = 800 11820 = 870 11072 £ 740
BUN Active 1396 * 040 1358 £ 040 1439 = 040 1459 = 050 1377 £ 040
(mg/dL)Placebo 13.18 £ 030 1362 £ 040 1352 £ 040 1360 £ 040 1390 = 040
T-Bil Active 078 = 034 078 £ 029 078 £ 033 081 = 036 086 = 036
(mg/dL)Placebo 0.75 = 025 0.71 £ 026 072 £ 027 073 £ 024 076 £ 025
TP Active 723 £ 005 704 £ 005 x,# 713 £ 005 714 = 0.04 709 005

(g/dL) Placebo 7.28 036 7.19 036 7.19 036 7.12 034 7.15 030
ALB Active 449 £ 032 440 = 027 % 438 £ 024 440 = 025 440 £ 027
(¢/dL) Placebo 453 £ 028 450 £ 026 439 = 024 444 £ 024 446 = 023
ALP Active 66.79 £  16.06 6738 1636 6723 = 1538 6735 1632 6583 = 1560

(U/L) Placebo 66.88 £ 1591 66.76 1635 6878 2516 6496 * 1753 65.00 1698
LDH Active 18850 %  26.65 186.19 £ 29.80 18644 £ 2491 18621 + 2818 18746 +  28.08
(UL) Placebo 18242 £ 2570 17934 *= 2783 17932 = 2639 17672+ 2840 17854 = 2745
y-GTP Active 35.08 * 17.03 3625 = 19.56 3438 £ 18.06 3404 1861 3315 1822
(UL) Placebo 3594 £  15.08 3556 1643 448 6624 3548 = 1705 3534 £ 1683
AST Active 2602 £ 773 2540 678 2585 £ 8.6 2463 662 2388 £ 619
(ULL) Placebo 2444 £ 579 2346 = 490 278 484 2388 £ 599 2508 = 16,61
ALT Active 3113 £ 1196 3096 1164 3042 £ 1196 2852 1092 2679 £ 971

(UL) Placebo 3090 £ 10.39 2940 = 871 3158 £ 25.02 2930 1149 3136 £ 3594
Cr Active 080 = (.12 081 £ 013 079 £ 013 080 £ 013 082 = 014

(mg/dL)Placebo 0.76 = (.14 077 £ 015 076 = 0.4 076 = 0.4 078 £ 014
UA  Active 569 £ 125 580 £ 130 573 £ 135 593 £ 141 589 £ 133

(mg/dL)Placebo 5.96 £ 098 609 £ 1.08 612 £ 104 610 = 104 617 102
T-Cho Active 218.79 * 3279 22019 3630 21817 = 3757 21615 = 34.65 21400 = 3186
(mg/dL)Placebo 211.46  + 3834 21038+ 4028 20788 3873 211.82 £ 40.84 207.64 £ 38.00
CT(;_ Active 13594 £ 2727 13213 £ 3266 13325 = 3232 130.17 £ 2890 12963 * 2911

(mg/dL)Placebo 127.92 + 3624 12528 * 3730 12250 * 3470 12512 = 3623 12260 * 3537
]-(I:[})]I;- Active 5788 £ 1315 5860 £ 1507 5758 1293 5719 1403 5733 £ 13.60
(mg/dL)Placebo 60.10 £ 1041 6048 £ 1125 6034 + 1238 6048 £ 1160 60.14 £ 1205
HbAlc Active 549 £ 032 546 £ 036 552 £ 033 541 £ 033 555 £ 031
(%) Placebo 543 £ 031 537 & 034 545 £ 032 538 030 547 £ 031

BS Active 9423 £ 762 9267 £ 87N 9258 + 719 9185 £ 765 9260 = 875

(mg/dL)Placebo 92.94 + 846 9420 * 853 9326 826 9234 = 783 9210 = 754

Table S6. Blood biochemistry test(Active n = 48 Placebo n = 50)
*P<0.05 vs Placebo #P<0.05 vs Ow



